112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

1 NS: £FRBCE ZI3c#(BE0) 5 2 NS: B2 & SEA(BAC) 5 10.00 : 10.00| Total VP: 10.00 Rank:
EW: BEEISZ F2EIEAC) -5 EW: %350 E ZFEZH(BAO) -5) IMP:| 26 26 6
I I -
#1 » KT84 4SS-2 -100 Mean: 5CXW-4 800 120 1 [[# 2 » 972 3NE5 -460 Mean: 3NE5 460 0.0 9
v T73 5CXW-4 800 100 3SS4 170 2.0 1 v JT87 3NW6 -490 -470 3NW6 490 1.0 1
+ A96 Dif: -900 NS:-5 2SS4 170 2.0 1 * J94 Dif: 30 NS:0 3NE6 490 1.0 4
» KJ9 IMP: -14 EW:-12 3SS3 140 1.0 4 » QJ8 IMP: 1 EW:1
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 3HW4 -170 Mean: 4HW-2 200 70 2||#4 » Q95 2SN2 110 Mean: 3DE-3 300 7.0 1
v 42 2SN-2-100 -80  4HW-1 100 50 3 vT5 3DE3 -110 10 3DE-1 100 30 2
+ QJB3 Dif: -70 NS:-3 3HW-1 100 50 1 * J932 Dif: 220 NS:3 2SN2 110 30 1
& 986 IMP: -2 EW:1 3SN-1 -50 1.0 1 & Q653 IMP: 6 EW:3 2HS2 110 30 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-2 200 Mean: 4SXS4 500 80 3
v Q983 4S5S4 620 130  5HE-3 150 1.0 1 v 8 4HW-2 200 270  4SXN4 500 8.0 1
+ QT862 Dif: -450 NS:1  3SS4 170 1.0 3 + Q865 Dif: 0 NS:-2 4Ss4 420 40 2
& JT IMP: -10 EW:-10 2SS4 170 1.0 3 » K8632 IMP: 0 EW:2 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
+ KQ63 & 8752 3HE1 50 20 1 & AQJ & T975 3HW4 170 -10.0 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 2SN3 140 Mean: 3SN3 140 40 2 ||#38 » Q864 5SW-1 50 Mean: 6SE-1 50 70 2
v K5 4SXN-1-200 -20 2SN3 140 40 2 v A9643 5SE5 -450 -260 6CW-1 50 70 1
*QJ Dif: 340 NS:4 1SN2 110 40 1 ¢ JT7 Dif: 500 NS:7 5SW-1 50 70 1
& A2 IMP: 8 EW:5 4SN-1 100 -20 4 T IMP: 11 EW:5 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 4130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

2 NS: ¥iEE FEAEEIC) 5 1 NS: SBEUIR 2I3C#:(FF0) 5 10.00 : 10.00| Total VP: 10.00 Rank:
EW: k5588 EHHER(BEO) -5 EW: BREISC E2E(BAC) -5 IMP:| 26 26 6
I I —
#1 » KT84 4SS-2100 Mean: 5CXW-4 800 120 1 [[# 2 » 972 3NE5 460 Mean: 3NE5 460 0.0 9
v T73 5CXW-4 -800 100  3SS4 170 2.0 1 v JT87 3NW6 490 -470 3NW6 490 1.0 1
+ A96 Dif: 900 NsS:12 2SS4 170 2.0 1 * J94 Dif: -30 NS:-1 3NE6 490 1.0 4
» KJ9 IMP: 14 EW:5 3SS3 140 1.0 4 » QJ8 IMP: -1 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 3HW4 170 Mean: 4HW-2 200 70 2||#4 » Q95 2SN2 -110 Mean: 3DE-3 300 7.0 1
v 42 2SN-2100 -80  4HW-1 100 50 3 vT5 3DE3 110 10 3DE-1 100 30 2
+ QJB3 Dif: 70 NS:-1  3HW-1 100 50 1 * J932 Dif: -220 NS:-3 2SN2 110 30 1
& 986 IMP: 2 EW:3 3SN-1 50 1.0 1 & Q653 IMP: -6 EW:-3 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-2 -200 Mean: 4SXS4 500 80 3
v Q983 4SS4 -620 130  5HE-3 150 1.0 1 v 8 4HW-2 -200 270  4SXN4 500 8.0 1
+ QT862 Dif: 450 NS:10 3SS4 170 1.0 3 + Q865 Dif: 0 NS:-2 4Ss4 420 40 2
& JT IMP: 10 EW:-1 2SS4 170 1.0 3 » K8632 IMP: 0 EW:2 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 2SN3 -140 Mean: 3SN3 140 40 2 ||#38 » Q864 5SW-1-50 Mean: 6SE-1 50 70 2
v K5 4SXN-1200 -20 2SN3 140 40 2 v A9643 5SE5 450 -260 6CW-1 50 70 1
*QJ Dif: -340 NS:-5 1SN2 110 40 1 ¢ JT7 Dif: -500 NS:-5 5SW-1 50 70 1
& A2 IMP: -8 EW:-4 4SN-1 100 -20 4 T IMP: -11 EW:-7 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

3 NS: PREME SR GHO) -10 4 NS: 8#EX BIHKEAC) 5 5.32 14.68 | Total VP: 5.32 Rank:
EW: 7%%}1% CRZEAC) -5 EW: E{2{2 sH4EE(B0) 10 IMP:| 7 20 1
I -
#1 Iy K184 4SS-1-50 Mean: 5CXW-4 800 120 1 [[# 2 a 972 3NE5 -460 Mean: 3NE5 460 0.0 9
v T73 3SS3140 100 3SS4 170 2.0 1 v JT87 3NE5 -460 -470  3NW6 490 1.0 1
+ A96 Dif: -190 NS:-4 2SS4 170 2.0 1 * J94 Dif: 0 NS:0 3NE6 490 1.0 4
» KJ9 IMP: -5 EW:-1 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 100 Mean: 4HW-2 200 70 2||#4 » Q95 2HS-1-100 Mean: 3DE-3 300 7.0 1
v 42 3SN-1-50 -80  4HW-1 100 50 3 vT5 3CS-2-200 10 3DE-1 100 30 2
+ QJB3 Dif: 150 NS:5 3HW-1 100 50 1 * J932 Dif: 100 NS:-3 2SN2 110 30 1
& 986 IMP: 4 EW:-1 3SN-1 50 1.0 1 & Q653 IMP: 3 EW:5 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 3SN4 170 Mean: 4SXS4 500 80 3
v Q983 3SS4170 130  5HE-3 150 1.0 1 v 8 4SXS4 590 270  4SXN4 500 8.0 1
+ QT862 Dif: 0 NS:1 3Ss4 170 1.0 3 + Q865 Dif: -420 NS:-3 4SS4 420 40 2
& JT IMP: 0 EW:-1 2SS4 170 1.0 3 » K8632 IMP: -9 EW:-8 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4SN-1-100 Mean: 3SN3 140 40 2 ||#38 » Q864 4SE4 -420 Mean: 6SE-1 50 70 2
v K5 3SN3140 -20  2SN3 140 40 2 v A9643 3NE4 -430 -260 6CW-1 50 70 1
*QJ Dif: -240 NsS:-2 1SN2 110 40 1 ¢ JT7 Dif: 10 NS:-4 5SW-1 50 70 1
& A2 IMP: -6 EW:-4 4SN-1 100 -20 4 T IMP: 0 EW:5 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

4 NS: £Z#5% EEGEIC) 5 3 NS: R E#E 5Ri&E(BO) -1 14.68 : 5.32 Total VP: 14.68 Rank:
EW: E1{&{& SHEEEI0) 10 EW: MK LLRZ(BAC) -5 IMP:} 20 : 7 4
I I —
#1 » KT84 4SS-150 Mean: 5CXW-4 800 12.0 1 ||# 2 a 972 3NE5 460 Mean: 3NE5 460 0.0 9
v T73 3SS3-140 100 3SS4 170 2.0 1 v JT87 3NE5 460 -470 3NW6 490 1.0 1
+ A96 Dif: 190 NS:1 2SS4 170 2.0 1 * J94 Dif: 0 NS:0 3NE6 490 1.0 4
» KJ9 IMP: 5 EW:4 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW-1 -100 Mean: 4HW-2 200 70 2||#4 » Q95 2HS-1100 Mean: 3DE-3 300 7.0 1
v 42 3SN-150 -80  4HW-1 100 50 3 vT5 3CS-2200 10 3DE-1 100 30 2
+ QJB3 Dif: -150 NS:1  3HW-1 100 50 1 * J932 Dif: -100 NS:-5 2SN2 110 30 1
& 986 IMP: -4 EW:-5 3SN-1 50 1.0 1 & Q653 IMP: -3 EW:3 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 3SN4 -170 Mean: 4SXS4 500 80 3
v Q983 3SS4 -170 130  5HE-3 150 1.0 1 v 8 4SXS4 -590 270  4SXN4 500 8.0 1
+ QT862 Dif: 0 NS:1 3Ss4 170 1.0 3 + Q865 Dif: 420 NS:8 4SS4 420 40 2
& JT IMP: 0 EW:-1 2SS4 170 1.0 3 » K8632 IMP: 9 EW:3 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4SN-1100 Mean: 3SN3 140 40 2 ||#38 » Q864 4SE4 420 Mean: 6SE-1 50 70 2
v K5 3SN3-140 -20  2SN3 140 40 2 v A9643 3NE4 430 -260 6CW-1 50 70 1
*QJ Dif: 240 NS:4 1SN2 110 40 1 ¢ JT7 Dif: -10 NS:-5 5SW-1 50 70 1
& A2 IMP: 6 EW:2 4SN-1 100 -20 4 T IMP: 0 EW:4 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

5 NS: 82 BREFGHO) -10 6 NS: EKi% B335(BAC) 15 3.77 16.23 | Total VP: 3.77 Rank:
EW: bR =EHEEAC) -15 EW: FR3ZHT #iEXAR(BAO) 10 IMP:| 6 25 12
I I -
#1 » KT84 2SS4 170 Mean: 5CXW-4 800 12.0 1 ||# 2 » 972 3NE6 -490 Mean: 3NE5 460 0.0 9
v T73 4SS-1-50 100 3SS4 170 2.0 1 v JT87 3NE6 -490 -470  3NW6 490 1.0 1
+ A96 Dif: 220 NsS:2 2ss4 170 2.0 1 * J94 Dif: 0 NS:-1 3NE6 490 1.0 4
» KJ9 IMP: 6 EW:4 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:1
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 A% N ~~n~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 3HW3 -140 Mean: 4HW-2 200 70 2||#4 » Q95 2DE2 -90 Mean: 3DE-3 300 7.0 1
v 42 4HW-2 200 -80  4HW-1 100 50 3 vT5 2HS2110 10 3DE-1 100 30 2
+ QJB3 Dif: -340 NS:-2 3HW-1 100 50 1 * J932 Dif: -200 NS:-3 2SN2 110 30 1
& 986 IMP: -8 EW:-7 3SN-1 50 1.0 1 & Q653 IMP: -5 EW:-3 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS3 140 Mean: 4SS4 620 100 1 ||#6 & AK7 3HW4 -170 Mean: 4SXS4 500 80 3
v Q983 5HE-3150 130  5HE-3 150 1.0 1 v 8 4S5S4 420 270  4SXN4 500 8.0 1
+ QT862 Dif: 10 NS:0 3Ss4 170 1.0 3 + Q865 Dif: -590 NS:-10 4SS4 420 40 2
& JT IMP: 0 EW:-1 2SS4 170 1.0 3 » K8632 IMP: -11 EW:-4 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 -130 Mean: 3SN3 140 40 2 ||#38 » Q864 6SE-1 50 Mean: 6SE-1 50 70 2
v K5 3SN-1-100 -20  2SN3 140 40 2 v A9643 5SE-150 -260 6CW-1 50 70 1
*QJ Dif: -30 NS:-3 1SN2 110 40 1 ¢ JT7 Dif: 0 NS:7 5SW-1 50 70 1
& A2 IMP: -1 EW:2 4SN-1 100 -20 4 T IMP: 0 EW:-7 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

6 NS: & 7ikhs B EEC) 15 5 NS: i227 FREF5(BAO) -1 16.23 : 3.77 Total VP: 16.23 Rank:
EW: BEZEHT SHERHA(BEO) 10 EW: [REE St (BAC) 1 IMP:| 25 : 6 3
I I —
#1 » KT84 2SS4 -170 Mean: 5CXW-4 800 12.0 1 [|# 2 » 972 3NE6 490 Mean: 3NE5 460 0.0 9
v T73 4SS-150 100 3SS4 170 2.0 1 v JT87 3NE6 490 -470 3NW6 490 1.0 1
+ A96 Dif: -220 NS:-4 2SS4 170 2.0 1 * J94 Dif: 0 NS:-1 3NE6 490 1.0 4
» KJ9 IMP: -6 EW:-2 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:1
s 72 » 96 2883 140 1.0 1 ||a Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 A% N ~~n~~~ v Q32
S ~1~22 48753 S ~~n~~~ * 753
E1~~~~a&8 E 56~~5 &T94
Wi1~~-~-~ W 56~~5
#3 » AJ65 3HW3 140 Mean: 4HW-2 200 70 2||#4 » Q95 2DE2 90 Mean: 3DE-3 300 7.0 1
v 42 4HW-2 -200 -80  4HW-1 100 50 3 vT5 2HS2 -110 10 3DE-1 100 30 2
+ QJB3 Dif: 340 NS:7  3HW-1 100 50 1 * J932 Dif: 200 NS:3 2SN2 110 30 1
& 986 IMP: 8 EW:2 3SN-1 -50 1.0 1 & Q653 IMP: 5 EW:3 2HS2 110 30 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS3 -140 Mean: 4SS4 620 100 1 ||#6 & AK7 3HW4 170 Mean: 4SXS4 500 80 3
v Q983 5HE-3 -150 130  5HE-3 150 1.0 1 v 8 4SS4 -420 270  4SXN4 500 8.0 1
+ QT862 Dif: 10 NS:1  3Ss4 170 1.0 3 + Q865 Dif: 590 NS:4 4SS4 420 40 2
& JT IMP: 0 EW:0 2SS4 170 1.0 3 » K8632 IMP: 11 EW:10 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 130 Mean: 3SN3 140 40 2 ||#38 » Q864 6SE-1-50 Mean: 6SE-1 50 70 2
v K5 3SN-1100 -20  2SN3 140 40 2 v A9643 5SE-1-50 -260 6CW-1 50 70 1
*QJ Dif: 30 NS:-2 1SN2 110 40 1 ¢ JT7 Dif: 0 NS:7 5SW-1 50 70 1
& A2 IMP: 1 EW:3 4SN-1 100 -20 4 T IMP: 0 EW:-7 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

7 NS: BREESH =2{(5H0) 6 8 NS: HBEE LRA(BAC) 6 10.00 : 10.00| Total VP: 10.00 Rank:
EW: S BRM2 (BAC) -6 EW: #iliE FRIE££(BRO) -6 IMP:| 8 . 8 6
I I -
#1 » KT84 3SS3 140 Mean: 5CXW-4 800 120 1 |[# 2 » 972 3NE5 -460 Mean: 3NE5 460 0.0 9
v T73 3SS4170 100  3SS4 170 2.0 1 v JT87 3NE5 -460 -470  3NW6 490 1.0 1
+ A96 Dif: -30 NS:1 2SS4 170 2.0 1 * J94 Dif: 0 NS:0 3NE6 490 1.0 4
» KJ9 IMP: -1 EW:-2 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:0
s 72 » 96 2883 140 1.0 1 ||a Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 A% N ~~n~~~ v Q32
S ~1~22 48753 S ~~n~~~ * 753
E1~~~~a&8 E 56~~5 &T94
Wi1~~-~-~ W 56~~5
#3 » AJ65 3HW-1 100 Mean: 4HW-2 200 70 2||#4 » Q95 2HS2 110 Mean: 3DE-3 300 7.0 1
v 42 4HW-1100 -80  4HW-1 100 50 3 vT5 3DE-1100 10 3DE-1 100 30 2
+ QJB3 Dif: 0 NS:5 3HW-1 100 50 1 * J932 Dif: 10 NS:3  2SN2 110 30 1
& 986 IMP: 0 EW:-5 3SN-1 50 1.0 1 & Q653 IMP: 0 EW:-3 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-2 200 Mean: 4SXS4 500 80 3
v Q983 4HW-2 100 130  5HE-3 150 1.0 1 v 8 4S5S4 420 270  4SXN4 500 8.0 1
+ QT862 Dif: 70 NS:1  3Ss4 170 1.0 3 + Q865 Dif: -220 NS:-2 4SS4 420 40 2
& JT IMP: 2 EW:1 2SS4 170 1.0 3 » K8632 IMP: -6 EW:-4 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 2SN3 140 Mean: 3SN3 140 40 2 ||#38 » Q864 4SE6 -480 Mean: 6SE-1 50 70 2
v K5 4SN-1-100 -20  2SN3 140 40 2 v A9643 4SE5 -450 -260 6CW-1 50 70 1
*QJ Dif: 240 NS:4 1SN2 110 40 1 ¢ JT7 Dif: -30 NS:-6 5SW-1 50 70 1
& A2 IMP: 6 EW:2 4SN-1 100 -20 4 T IMP: -1 EW:5 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

8 NS: EH ERAREIC) 6 7 NS: BREAEE =32{_(FH0) 6 10.00 : 10.00| Total VP: 10.00 Rank:
EW: i3l BRE£E(GEO) -6 EW: Rigi B2 (BIC) -6 MP:| 8 : 8 6
I I —
#1 » KT84 3SS3 -140 Mean: 5CXW-4 800 12.0 1 [|# 2 » 972 3NE5 460 Mean: 3NE5 460 0.0 9
v T73 3SS4 -170 100  3SS4 170 2.0 1 v JT87 3NE5 460 -470 3NW6 490 1.0 1
+ A96 Dif: 30 NsS:2 2ss4 170 2.0 1 * J94 Dif: 0 NS:0 3NE6 490 1.0 4
» KJ9 IMP: 1 EW:-1 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:0
s 72 » 96 2883 140 1.0 1 ||a Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 A% N ~~n~~~ v Q32
S ~1~22 48753 S ~~n~~~ * 753
E1~~~~a&8 E 56~~5 &T94
Wi1~~-~-~ W 56~~5
#3 » AJ65 3HW-1-100 Mean: 4HW-2 200 70 2||#4 » Q95 2HS2 -110 Mean: 3DE-3 300 7.0 1
v 42 4HW-1-100 -80  4HW-1 100 50 3 vT5 3DE-1-100 10 3DE-1 100 30 2
+ QJB3 Dif: 0 NS:5 3HW-1 100 50 1 * J932 Dif: 10 NS:3 2SN2 110 3.0 1
& 986 IMP: 0 EW:-5 3SN-1 50 1.0 1 & Q653 IMP: 0 EW:-3 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QTS5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 2SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 5HW-2 -200 Mean: 4SXS4 500 80 3
v Q983 4HW-2 -100 130  5HE-3 150 1.0 1 v 8 4SS4 -420 270  4SXN4 500 8.0 1
+ QT862 Dif: -70 NS:-1 3Ss4 170 1.0 3 + Q865 Dif: 220 NS:4 4Ss4 420 40 2
& JT IMP: -2 EW:-1 2SS4 170 1.0 3 » K8632 IMP: 6 EW:2 4SN4 420 4.0 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 48S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 2SN3 -140 Mean: 3SN3 140 40 2 ||#38 » Q864 4SE6 480 Mean: 6SE-1 50 70 2
v K5 4SN-1100 -20  2SN3 140 40 2 v A9643 4SE5450 -260 6CW-1 50 70 1
*QJ Dif: -240 NsS:-2 1SN2 110 40 1 ¢ JT7 Dif: 30 NS:-5 5SW-1 50 70 1
& A2 IMP: -6 EW:-4 4SN-1 100 -20 4 T IMP: 1 EW:6 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4swa 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

9 NS: $IF2 BFEER5FGEO) -26 10 NS: BRI REE(BAC) 10 1.79 18.21| Total VP: 1.79 Rank:
EW: &% 5 B EEIC) -10 EW: 2553 It E(BAO) 26 IMP:| 10 39 14
I I -
#1 » KT84 4SS-1-50 Mean: 5CXW-4 800 120 1 [[# 2 a 972 3NE6 -490 Mean: 3NE5 460 0.0 9
v T73 4SS-1-50 100 3SS4 170 2.0 1 v JT87 3NE5 -460 -470  3NW6 490 1.0 1
+ A96 Dif: 0 NS:-4 2SS4 170 2.0 1 * J94 Dif: -30 NS:-1 3NE6 490 1.0 4
» KJ9 IMP: 0 EW:4 3SS3 140 1.0 4 » QJ8 IMP: -1 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 2HW3 -140 Mean: 4HW-2 200 70 2||#4 » Q95 2CS-1-100 Mean: 3DE-3 300 7.0 1
v 42 4HW-2 200 -80  4HW-1 100 50 3 vT5 3DE-3300 10 3DE-1 100 30 2
+ QJB3 Dif: -340 NS:-2 3HW-1 100 50 1 * J932 Dif: -400 NS:-3 2SN2 110 30 1
& 986 IMP: -8 EW:-7 3SN-1 50 1.0 1 & Q653 IMP: -9 EW:-7 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 4SS-2 -200 Mean: 4SS4 620 100 1 ||#6 & AK7 4HW4 -620 Mean: 4SXS4 500 80 3
v Q983 3HE-150 130 5HE-3 150 1.0 1 v 8 4SXN4 590 270  4SXN4 500 8.0 1
+ QT862 Dif: -250 NS:-8 3SS4 170 1.0 3 + Q865 Dif: 1210 NS:-13 4SS4 420 40 2
& JT IMP: -6 EW:2 2SS4 170 1.0 3 » K8632 IMP: -15 EW:-8 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 3SN-1-100 Mean: 3SN3 140 40 2 ||#38 » Q864 6CW-150 Mean: 6SE-1 50 70 2
v K5 4SN-1-100 -20  2SN3 140 40 2 v A9643 4SW4 -420 -260 6CW-1 50 70 1
*QJ Dif: 0 NS:-2 1SN2 110 40 1 ¢ JT7 Dif: 470 NS:7 5SW-1 50 70 1
& A2 IMP: 0 EW:2 4SN-1 100 -20 4 T IMP: 10 EW:4 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 4130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
dOVAN ,T2 FOVAN o T 4SE5 450 -5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 JAFHR(18. 21) #: 11 BEZZRAT. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

1 O NS: B SEZEEAC) 10 9 S: 8|72 BRI<F(F0) -24 18.21 1.79 Total VP: 18.21 Rank:
EW: R854 o[ ZE(BFHO) 26 EW: 2ZH R#ER(EAC) -1 IMP:| 39 10 1
I I —
#1 » KT84 4SS-150 Mean: 5CXW-4 800 12.0 1 ||# 2 a 972 3NE6 490 Mean: 3NE5 460 0.0 9
v T73 4SS-150 100 3SS4 170 2.0 1 v JT87 3NE5 460 -470 3NW6 490 1.0 1
+ A96 Dif: 0 NS:-4 2SS4 170 2.0 1 * J94 Dif: 30 NS:0 3NE6 490 1.0 4
» KJ9 IMP: 0 EW:4 3SS3 140 1.0 4 » QJ8 IMP: 1 EW:1
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 2HW3 140 Mean: 4HW-2 200 70 2||#4 » Q95 2CS-1100 Mean: 3DE-3 300 7.0 1
v 42 4HW-2 -200 -80  4HW-1 100 50 3 vT5 3DE-3-300 10 3DE-1 100 30 2
+ QJB3 Dif: 340 NS:7  3HW-1 100 50 1 * J932 Dif: 400 NS:7 2SN2 110 30 1
& 986 IMP: 8 EW:2 3SN-1 -50 1.0 1 & Q653 IMP: 9 EW:3 2HS2 110 30 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 4SS-2 200 Mean: 4SS4 620 100 1 ||#6 & AK7 4HW4 620 Mean: 4SXS4 500 80 3
v Q983 3HE-1-50 130 5HE-3 150 1.0 1 v 8 4SXN4 -590 270  4SXN4 500 8.0 1
+ QT862 Dif: 250 NS:-2 3SS4 170 1.0 3 + Q865 Dif: 1210 NS:8 4SS4 420 40 2
& JT IMP: 6 EW:8 2SS4 170 1.0 3 » K8632 IMP: 15 EW:13 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 3SN-1 100 Mean: 3SN3 140 40 2 ||#38 » Q864 6CW-1-50 Mean: 6SE-1 50 70 2
v K5 4SN-1100 -20  2SN3 140 40 2 v A9643 4SW4 420 -260 6CW-1 50 70 1
*QJ Dif: 0 NS:-2 1SN2 110 40 1 ¢ JT7 Dif: -470 NS:-4 5SW-1 50 70 1
& A2 IMP: 0 EW:2 4SN-1 100 -20 4 T IMP: -10 EW:-7 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 4130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
dOVAN ,T2 FOVAN o T 4SE5 450 -5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

1 1 NS: 7T50N = (BE0) 3 1 2 NS: #B{E3E HFER(EIC) -21 17.50 : 2.50 Total VP: 17.50 Rank:
EW: # T BEEEE(EAC) 21 EW: ZZ8Ei8 £I3%7K(BAO) -3| IMP:| 27 : 2 2
I I -
#1 » KT84 3SS3 140 Mean: 5CXW-4 800 120 1 |[# 2 » 972 3NE5 -460 Mean: 3NE5 460 0.0 9
v T73 3SS3140 100 3SS4 170 2.0 1 v JT87 3NE5 -460 -470  3NW6 490 1.0 1
+ A96 Dif: 0 NS:1 2SS4 170 2.0 1 * J94 Dif: 0 NS:0 3NE6 490 1.0 4
» KJ9 IMP: 0 EW:-1 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 2HW3 -140 Mean: 4HW-2 200 70 2||#4 » Q95 3DE-1100 Mean: 3DE-3 300 7.0 1
v 42 4HW4 -620 -80  4HW-1 100 50 3 vT5 2SN-1-100 10 3DE-1 100 30 2
+ QJB3 Dif: 480 NS:-2 3HW-1 100 50 1 * J932 Dif: 200 NS:3 2SN2 110 30 1
& 986 IMP: 10 EW:11 3SN-1 -50 1.0 1 & Q653 IMP: 5 EW:3 2HS2 110 30 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXS4 590 Mean: 4SXS4 500 80 3
v Q983 4SS-1-100 130  5HE-3 150 1.0 1 v 8 4SN4 420 270 4SXN4 500 8.0 1
+ QT862 Dif: 270 NS:1  3Ss4 170 1.0 3 + Q865 Dif: 170 NS:8 4SS4 420 40 2
& JT IMP: 7 EW:6 2SS4 170 1.0 3 » K8632 IMP: 5 EW:-4 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
+ KQ63 & 8752 3HE1 50 20 1 & AQJ & T975 3HW4 170 -10.0 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 -130 Mean: 3SN3 140 40 2 ||#38 » Q864 4SW5 -450 Mean: 6SE-1 50 70 2
v K5 4SN-1-100 -20  2SN3 140 40 2 v A9643 4SE4 -420 -260 6CW-1 50 70 1
*QJ Dif: -30 NS:-3 1SN2 110 40 1 ¢ JT7 Dif: -30 NS:-5 5SW-1 50 70 1
& A2 IMP: -1 EW:2 4SN-1 100 -20 4 T IMP: -1 EW:4 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

1 2 NS: f3{FE #HFEFEEC) -21 1 1 NS: STl EFA%(BF0) 3 2.50 17.50 | Total VP: 2.50 Rank:
EW: ZEREJR EE/K(BHO) -3 EW: Tt BREEE(EAC) 21 IMP:| 2 27 13
I I —
#1 » KT84 3SS3 -140 Mean: 5CXW-4 800 12.0 1 [|# 2 » 972 3NE5 460 Mean: 3NE5 460 0.0 9
v T73 3SS3-140 100 3SS4 170 2.0 1 v JT87 3NE5 460 -470 3NW6 490 1.0 1
+ A96 Dif: 0 NS:1 2SS4 170 2.0 1 * J94 Dif: 0 NS:0 3NE6 490 1.0 4
» KJ9 IMP: 0 EW:-1 3SS3 140 1.0 4 » QJ8 IMP: 0 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 A% N ~~n~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 2HW3 140 Mean: 4HW-2 200 70 2||#4 » Q95 3DE-1-100 Mean: 3DE-3 300 7.0 1
v 42 4HW4 620 -80  4HW-1 100 50 3 vT5 2SN-1100 10 3DE-1 100 30 2
+ QJB3 Dif: -480 NS:-11 3HW-1 100 50 1 * J932 Dif: -200 NS:-3 2SN2 110 30 1
& 986 IMP: -10 EW:2 3SN-1 50 1.0 1 & Q653 IMP: -5 EW:-3 2HS2 110 3.0 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3SS4 -170 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXS4 -590 Mean: 4SXS4 500 80 3
v Q983 4SS-1100 130  5HE-3 150 1.0 1 v 8 4SN4 -420 270  4SXN4 500 8.0 1
+ QT862 Dif: -270 NS:-6 3SS4 170 1.0 3 + Q865 Dif: 170 NS:4 4SSs4 420 40 2
& JT IMP: -7 EW:-1 2SS4 170 1.0 3 » K8632 IMP: -5 EW:-8 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 4CE4 130 Mean: 3SN3 140 40 2 ||#38 » Q864 4SW5 450 Mean: 6SE-1 50 70 2
v K5 4SN-1100 -20  2SN3 140 40 2 v A9643 4SE4 420 -260 6CW-1 50 70 1
*QJ Dif: 30 NS:-2 1SN2 110 40 1 ¢ JT7 Dif: 30 NS:-4 5SW-1 50 70 1
& A2 IMP: 1 EW:3 4SN-1 100 -20 4 T IMP: 1 EW:5 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3: 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

1 3 NS: 22T EHRZGEO) 4 14 NS: ZBigsl BRER(BAC) 2 11.67 : 8.33 Total VP: 11.67 Rank:
EW: EEHi 2k J51EEAC) -2 EW: 5H#HE S5 E(BO) -4 IMP:| 25 21 5
I I -
#1 » KT84 4SN-1-50 Mean: 5CXW-4 800 12.0 1 |[# 2 a 972 3NE6 -490 Mean: 3NE5 460 0.0 9
v T73 25SS3 140 100  3SS4 170 2.0 1 v JT87 3NE5 -460 -470  3NW6 490 1.0 1
+ A96 Dif: -190 NS:-4 2SS4 170 2.0 1 * J94 Dif: -30 NS:-1 3NE6 490 1.0 4
» KJ9 IMP: -5 EW:-1 3SS3 140 1.0 4 » QJ8 IMP: -1 EW:0
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW4 -620 Mean: 4HW-2 200 70 2||#4 » Q95 1HS2 110 Mean: 3DE-3 300 7.0 1
v 42 4HW-1100 -80  4HW-1 100 50 3 vT5 2HS-1-100 10 3DE-1 100 30 2
+ QJB3 Dif: -720 NS:-11  3HW-1 100 50 1 * J932 Dif: 210 NS:3  2SN2 110 30 1
& 986 IMP: -12 EW:-5 3SN-1 -50 1.0 1 & Q653 IMP: 5 EW:3 2HS2 110 30 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3HW-150 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXS4 590 Mean: 4SXS4 500 80 3
v Q983 3SS4170 130  5HE-3 150 1.0 1 v 8 5HW-2 200 270  4SXN4 500 8.0 1
+ QT862 Dif: -120 NS:-2 3SS4 170 1.0 3 + Q865 Dif: 390 NS:8 4SS4 420 40 2
& JT IMP: -3 EW:-1 2SS4 170 1.0 3 » K8632 IMP: 9 EW:2 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 3SN3 140 Mean: 3SN3 140 40 2 ||#38 » Q864 6SE-1 50 Mean: 6SE-1 50 70 2
v K5 1SN2110 -20  2SN3 140 40 2 v A9643 4SE4 -420 -260 6CW-1 50 70 1
*QJ Dif: 30 NS:4 1SN2 110 40 1 ¢ JT7 Dif: 470 NS:7 5SW-1 50 70 1
& A2 IMP: 1 EW:-4 4SN-1 100 -20 4 T IMP: 10 EW:4 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




112 FX 4 2FMBERF R

® ==> Rl

#1: 10 FFBR(18.21) #2: 11 BB 5(17. 5) #3 6 ﬁ)—:‘aﬁ\ﬁz(m 23)

1 4 NS: FiEsl BEE=EC) 2 1 3 NS: 25T ZiiZ(F0) 4 8.33 11.67 | Total VP: 8.33 Rank:
EW: BN =EZEEI0) 4 EW: EEM JLTIEBAC) -2 IMP:| 21 25 10
I I —
#1 » KT84 4SN-150 Mean: 5CXW-4 800 120 1 |[# 2 a 972 3NE6 490 Mean: 3NE5 460 0.0 9
v T73 2SS3 -140 100  3SS4 170 2.0 1 v JT87 3NE5 460 -470 3NW6 490 1.0 1
+ A96 Dif: 190 NS:1 2SS4 170 2.0 1 * J94 Dif: 30 NS:0 3NE6 490 1.0 4
» KJ9 IMP: 5 EW:4 3SS3 140 1.0 4 » QJ8 IMP: 1 EW:1
s 72 » 96 2883 140 1.0 1 ||s Q63 » K84
v QJ5 v K862 4SS-1 -50 40 4 ||v A954 I v K6
* QJ2 + KT4 4SN-1 50 40 1 8 + AKQT62
+ AQ632 & T754 4SS-2 100 -50 1 & A7632 » K5
® VBN 4 AQJS3 o ¢ VABN 4 AJTS
N ~1~22 9A%4 N ~~~~~ v Q32
S ~1~22 48753 S ~~~~~ ¢ 753
E1~~~~ a8 E 56~~5 &T94
W1~~~~ W 56 ~~5
#3 » AJ65 4HW4 620 Mean: 4HW-2 200 70 2||#4 » Q95 1HS2 -110 Mean: 3DE-3 300 7.0 1
v 42 4HW-1-100 -80  4HW-1 100 50 3 vT5 2HS-1100 10 3DE-1 100 30 2
+ QJB3 Dif: 720 NS:5 3HW-1 100 50 1 * J932 Dif: -210 NS:-3 2SN2 110 30 1
& 986 IMP: 12 EW:11  3SN-1 -50 1.0 1 & Q653 IMP: -5 EW:-3 2HS2 110 30 2
» KQ74 ~ 93 2SN-2 4100 1.0 1 ||as 632 a AT4 1HS2 110 3.0 1
v AK876 v QT5 3HW3 140  -20 1 ||e K987 + v A2 3DE3 410 3.0 1
* K ¢ T652 2HW3 140 -20 2 ||e T854 + KQ76 2SN-1 100 -3.0 1
& 532 » AQ74 3HW4 470 -3.0 1 ||a K2 a JT97 2HS-1 4100 -3.0 2
VAN ,T82 4HW4 620 -11.0 2 ¢V AN 4 KIBT 2DE2 90 3.0 1
N ~1~1~ ¢J93 N ~~21~ v QJ643 2CS-1 4100 -3.0 1
S ~1~1~ ¢A974 S ~~21~ ¢A 3CS-2 -200 -5.0 1
E1~3~1aKJT E ~2~~1 a&A84
W1~2~1 W ~2 ~~1
#5 s Q2 3HW-1-50 Mean: 4SS4 620 100 1 ||#6 & AK7 4SXS4 -590 Mean: 4SXS4 500 80 3
v Q983 3SS4 -170 130  5HE-3 150 1.0 1 v 8 5HW-2 -200 270  4SXN4 500 8.0 1
+ QT862 Dif: 120 NS:1  3Ss4 170 1.0 3 + Q865 Dif: -390 NS:-2 4SS4 420 40 2
& JT IMP: 3 EW:2 2SS4 170 1.0 3 » K8632 IMP: -9 EW:-8 4SN4 420 40 1
# 765 s K 3S83 140 00 1 ||a QT 92 5HW-2 200 20 3
v AT76 v K542 4HW-2 100 -1.0 1 ||v KQJ542 v AT63 4HW-2 200 2.0 1
¢ 73 ¢ AJ54 3HW-1 50 20 1 (]|e 93 ¢ A74 3SN4 170 3.0 1
» KQ63 #» 8752 3HE-1 50 20 1 ||s&AQJ » T975 3HW4 170 <100 1
%o ¢ VAN 4AITI843 45S-1 100 -60 1 % ¢ VAN 4 J86543 4HW4 620 -13.0 1
N ~1~32 eJ 48S-2 200 -80 1|(N ~4~4~ 997
S ~1~33 +K9 S ~4~4~ ¢ KIT2
E 2~2~~ &A% E1~3~1 &4
W2-~2~-~ W 1~3~1
#7 » KQ98653 3SN3 -140 Mean: 3SN3 140 40 2 ||#38 » Q864 6SE-1-50 Mean: 6SE-1 50 70 2
v K5 1SN2-110 -20  2SN3 140 40 2 v A9643 4SE4 420 -260 6CW-1 50 70 1
*QJ Dif: -30 NS:4 1SN2 110 40 1 ¢ JT7 Dif: -470 NS:-4 5SW-1 50 70 1
& A2 IMP: -1 EW:-4 4SN-1 100 -20 4 T IMP: -10 EW:-7 5SE-1 50 70 1
aJ a A74 3SN-1 100 -20 2 ||a AK75 ~ J932 4SW4 420 40 1
v JT732 + v Q 4CE4 130 30 2 ||eT v Q5 4SE4 420 -40 3
¢ KT4 + A985 4SXN-1 200 -50 1 ||e KQ63 * A8 5SE5 450 -5.0 1
& T874 S » KQ963 & AK9 » QJ543 4SW5 450 5.0 1
P OVABN T2 oOVAN AT 4SE5 -450 5.0 1
N ~~~ 2 ~ ¢ A9864 N ~~~~~ v KJ872 3NE4 430 5.0 1
S ~~~2~ 47632 S ~~~~~ ¢ 9542 4SE6 480 6.0 1
E 53~~~ aJ5 E 5~~42 &872
W53~~~ W 5 ~~42




